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Code No: R09220505
“JAWAHARLAL NEHRU TRECHNOLOGICALONIVERSITY, HYDERABAD
B. Tech H Year II Semester Examinations, Ma¥-2013

ok * Design‘and Anal¥sis of Alg6rithms
- ’ (Common tp CSE, IT) o
Titiie: 3 hout$ R &% Max. Marks: 75

Answer any five questions
All questions cArry equaPmarks

B Deﬁ%tlme coxgglexny, Describe dlzggrent asygﬁptotlc n%gtlons usggi to represent
the time complexities with suitable examples [15]

2. Devé?gp algoriﬁ}hs for UNION anidﬂKFIND u%ﬁlg weigﬁgg rule ;Sn"d collapsing

- rule rggpectivelgﬁ AR am a0 - [15]..

3%)&, ert%gg,nd expl%m the comrglfea “,»qtlon for, dee aggg, conquer.and give the

time complexity.
b)w Dlscugss Strassepﬁs matrl ;i £

and dggve the t%g complexity. [15]

ction Job scquencmg when N=7,
1, d2, ...d7)=(1,3,4,3,2,1,2)

4.3). What is the SOlthlOD\ gers erat
T (PLPL, L. L PT)=(3,%, 2’0
l;) What ;5 Grcedy m - el

5 Solve ?;the problem using _dynamic programming
7% P__ (l‘fll % C_40 _4 4] b=
b)  Consider thr ges of a: < 1th r1=0.3, r2=0.5, r3=0.2 and ¢1=30, c2=20,
¢3=30'Where tht for 0 m is C=80 and ul=2, u2=3, w3=2 find the
- rellabxhty de51gn i £l i - oR [15;4_&

ki 'Strategy with an example.

Statehd explaﬁ‘the n-Quée probl@ﬁ using b%gktrackm%? ge (1 5,}

75’5 " Generate FIFO $ranch andbound on'the travelfﬁ% salesnian problcﬂ"i“’énd find the
solution space tree.

by Whats bounding? Explaifi the principles of bdlihding. ** ®| 5"
8. State and explain cook’s theorem and also discuss about NP complete classes.
[15]
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